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Instructions :
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Note :

(2)

)

2)

S sg elenssErs@ elenweflssab.

Simanig Qanmss@sd sflurs ufand o dreTeT eratugmar sAUTTESIE
Qs raterayd. FaILIFaled GenmullpLiden, Hemns SarsTestLumerilb
o Languirsg Cgfelssa)n.

Beob g &SmUY @wulamear wLLHGCWL TWSHWSDGD
3 &CaETyHeaugsh@ED vwauBhdHE CeuaTHbd. ULRSE aumFeausn @
Cluenéled LiweTuhiGSeb.

Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@S - I/ PART - I

20x1=20

Aaré&suul(Herer Brem@ wrHn el sealld Waea|b q@quw
cllenLemuws Coins®sss GHULG L aflenulaarybd Cergg)
GT(PSEYLD.

Answer all the questions.

Choose the most appropriate answer from the given faur alternatives and write the
option code and the corresponding answer.
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1. MPC-guyib MPS -gquyib Sl lqenmed Heni_iLg)

(<) 0.1 (<o) 1 (@) 1.1 (e "2
The sum of the MPC and MPS is:
@ 0.1 b 1 (€ 1.1 (d) 2

2. GST Qs swibd :

(<=1) auporen cuf (<=,) elpuenen euifl
(Q) ocrerrld aul (r) QarfinEuw eurfl
GST is equivalence of : |
(@) Income tax (b) Sales tax

(c) Local tax (d) Corporation tax

3.  Siewuysri Geuaneulanenoufen G)wiey

(=) QUi FepsTwLD (=) QuBisT FPSTWILD
(8) selyl QurmeTTgsmyd (FF) &g FupsTwuD
Structural unemployment is a feature in a N

(@) Dynamic society (b) Static society

(c) Mixed economy (d) Socialist society

4. epg Qurmerrgrrsdle o Husd o Mew saflurmsE wHCWL o drerg ?
(1) 2 aww Qur@meTTSTTLD

(<=,) asorafiggieuls QummeTTgTyLd

(@) seliyl Qum@erTsmyD

(FF) &wgmwl QuUmmeTTSTTD -

Identify the economic system, where only private ownership of production exists.
(a) Globalist Economy

(b) Capitalist Economy

(c) Mixed Economy

(d) Socialist Economy
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Qm wrhlsaflan diysEsbd @Gy Hanaulled maihm Qaaprd opemet _ SR

p Lan@Qsmiy ererdflGomid.

(&) LSEPS (<)) erHlirinenm (@) ereflus (rr) Gpraemiu
If the values of two variables move in the same direction, it is said to be correlation.
(a) multiple (b) negative () simple (d) positive

@pdwredler, Geualiprl® Crry. (poged sigiwdssiuLTg e

(1) wOBS 2-HUSS (<) auraid)

(@) smuse (m) <sign @b
Foreign Direct Investments not permitted in India is :

(a) Pharmaceutical (b) Banking

(c¢) Insurance (d) Atomic enefgy

enww eumidl BT ig e : S F sy el

(=21) el ' (<=y,) uemrewed
(@) Coilu aumpan (%) B
Central Bank is authority of any country.
(a) Wage ‘(b) Monetary
(c) National Income (d)  Fiscal

Lent 656&LD Gremg) ;-

(1) wertodlliy 2iglsmiy (<=,) elenevaeT iFlafiy
(@) deowsdr wmmrdnsssd () @S]GU)GII)ESG'TTKI@GU)!:DIQG'U
Inflation means : '

(a) Value of money is increasing (b) Prices are rising

(c) Prices are remaining the same  (d) Prices are falling
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9. apnefl misiey pmlib sanasdiiheug)
(e2) Y/C (e24,) C/Y (@) C+Y (/r) CY
The average propensity to consume is measured by :

(@) Y/C L) C/Y () C+Y (dy CY

10.  pflurer eNeurgsde uBIsEH&E@0D <m BriHsafle Carrgs Br@H :
(=) @pHwr (<) Seorrr (®) awLQarflwur () guumer

Which of the féllowing does not come under ‘Six dialogue partners” of ASEAN ?
(a) India (b) China (c) North Korea (d) Japan

11. @Qpdureler AL &G MWESILLL D &TmH
(<4) 1947 (<) 1950 (@) 1948 (FF) 1951

Planning Commission was set up in the year

(a) 1947 (b) 1950 (o) 1948 (d) 1951
12. Gsl@w Smer @iy ; r&eSlen elleneTeum@Lb.

(1) BiF (=) @ (@) floowd () sTHm

Hearing loss is the effect of pollution.

(a) water (b) noise (c) land . (d) air

13. “‘yHw Cuwé Qumpmeflwelen sHms” eream HePPSESHUILIAUIGUT WTT ?
(=1) Créenim o9l evé (=) L b avlfls
() &myed & (rF) Cg.etib. Setien
Who is regarded as “Father of Modern Macro Economics” ?
(a) Ragnar Frisch (b) Adam Smith
() Karl Marx (d) J.M. Keynes
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wemt wnmhor @igmib B eston @ afheng, |

(1) Lm@Ed a8hHang, (=) LIGTTE BHan S

(@) wegamé apeng (1) empwicompm’ (has Caewmasenftl ahans

Exchange rates are determined in :

(a) Stock market (b)  Money market

(c) Capital market (d)  Foreign Exchange market

TaUHdDS Fal iy QUHIET WPDUI BT eumibmein sassfl_LiumEmg ?

() Qeeey (<) e-pHugd)

(@) eumwrenbd () euil

Income method is measured by summing up of all forms of
(a) Expenditure (b) Production
(¢) Income (d) Taxes

QuUrEETTSTT Siemencuuilic) erglb QeTerened 2 (HeuTdSHWeur

(=) srired Gwirgen (=) cellprendlen smebL_ebt
(@) evSwirGuoer (/) Créenm oL9fevd
Econometrics is the word coined by :

(a) Karl Pearson (b) Francis Galton

(c) Spearman (d) Ragnar Frisch

Aoy erGuy o fepwuller wH@mmm QUi :
(1) gem Sl(mLiu gomwds s ser

(=) grem shIsD

(@) smiyflenw

(rFF) umgeTeY&ET

The other name for Special Drawing Rights is :
(a) Voluntary export restrictions

(b)  Paper gold

(c) Patents

(d) Quotas
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18.  cnédu srag HiLsHar @ear@eanmm QU :

(1) s HLib (=) LOUUDSSID HLLb

(8) swhdlupy HiLib () sluurie B&@H b
Short-term plan is also known as

(@)  Rolling plans (b) Controlling plans

(c)  De-rolling plans (d) De-controlling plans

19. Gelluysew WL H&E0 Qe Cw 5mﬁ6méu6mué; Qsram® e(meug)

Cipélpey <i@0.
(=) epogeansd e 7 , (<=1) Caemeuuden
(@) auliy eigsder (/F)  sjefllQe
flexibility brings equality between savings and investment.
(a) = Capital (b) Demand

(c) Rate of Interest (d) Supply

- 20. @relliy ey fler Lewr oereys Cariur® qasgg@ugbm @D :
(<=t) 1911 (<1) 1908 (&) 1914 © () 1910

Irving Fisher’s Quantity Theory of Money was popularized in :
(a) 1911 (b) 1908 (c) 1914 (d) 1910

U@l - II/PART - 11

@MUY : gCsaib g damsseErss el weallssayb. ellenr eramr 30 -&@
SLLmwwns eilenL weflégEeayLb. ' _ 7x2=14

Note : Answer any 7 questions. Question No. 30 is compulsory.

21. (_Lpg,a)rrefﬂggjajm GTEIIMITEL GTEUTEN ?

What do you mean by Capitalism ?
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QBRI Lawid 6 GIDTE 6T ebtenr ) TOSHGETH HmHs

What is Plastic Money ? Give example

W Ceuemen QuImItiy' — QUGN TWIMIGEE|LD.

Define “Full employment’,

E”L—G QU(HLDITET &&N&&l_lq_a) Qan"r_r,g, @a;rrsu GTaJaJrrgj eﬂa;asana)g) g,@éﬂm@ ?

Why is “self consumption’ difficult in measuring National Incomeé ?

e Lamumg@or Gouemaudaremn L fpl GOy euenys.

Give short note on Frictional Unemployment

Geuerreir HLel GUPEIGL Fewpulen Lienlsamers G NTOICES

Mention the functions of Agriculture Credit department.

s WHp eurenilal) Ligd erammmed eremem ?

What is Free Trade Area ?

aflengt LBl eranuger QUITHET samis.
Specify the meaning of Seed ball.

‘S g liuen aupe|-QwaysHl LI’ — GOlLY euenrs.

Write a note on ‘Zero based budget’.

GST -6 2 6TemL_&&BIGET Wreney ?

What are the components of GST ?
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L@d - 111/ PART - 111

Gluy aGaaib e cNenmiss@ns@ efNeniwiellssan. efarr eram 40 -5&
SLLmuons elewaldseaib. 7x3=21

Note : W : . A
Answer any 7 questions. Question No. 40 is compulsory.

31. &l wafigh auradHnEd, Qswellsd sng aimurasdnen e erer Geugur®
eranen ?

Differentiate between Personal and Disposable Income,

32. &anflen Gumiuml el eleréss.

Explain Keyne's theory.

33. Cpiaps, wepws aflsaEpsfoL Cuurer Caumur@sdr aamaGueaid apethaneans
FmIS.

Point out any three differences between Direct taxes and Indirect taxes.

34. Qauaflpr(® Gy epevsarsHen Crrasmsmars GHUEGAHS.

State the objectives of Foreign Direct Investment.

35. @)-sfleseT eramugan QUITHET Samis.

State the meaning of e-Wastes.

36. &ni&dan LafEamend HHESIOTEE nmls.

State briefly the functions of SAARC,

37. 58 Cursdler uenilaer wrena ?
What are the functions of NITI Aayog ?
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38.

Write any three

39.

characteristics of Tax.

40. Hemengyy aurisd) oD uph Tapma
Write about E-Banking.

9

wufluGen Caen b WP LUBTUS@DET oT(PEIS-

Led cuensduwres o g Qﬁrﬂ_r‘rq&@m{s sl Slersza.

State and explain the different kinds of Correlation.

u@hd - IV /PART - IV
@!6]‘:-“4 P Senengay Cﬁéﬂz\'u{g}«i{gé Bacuailssand

Note : Answer all the questions.
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7x5=35

41. (=) Iéraumd Barisgrss arvd Quisan L Opasdsgeliamans s HbHg

S Sarssad

Nena x 10§ 12 14 }Las ] 19
sefiiyy | 40 | 41 | 48 | 80 | 30
Siesy

(=) pri(® aumwrengdlan wéiudsiausas Saflssan.
(a) Calculate the Karl Pearson’s coefficient of correlation for the following data and explain.

(b) Explain the importance of National Income.

Price x 10 | 12| 14 | 15 | 19
Supply v 40 | 41 | 48 | 60 | 50
OR

[ Bplys / Turn over
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42. (=) @pPw Naten cutuhufen Liafamen eNeufdmaib,

9|6060 G|
(<) upieuf 6. mis spHEuleer euenyLILGgIL 6 6flersEs.
(@)  Describe the functions of Reserve Bank of India.

OR

(®)  Explain the “Vicious Circle of Poverty” with diagram.

43. (1) ADF, ASF -4 @eLuwlorar swufleaai euenyLL b epetd afleuflEgeyLb.

Di60605)
(=) QpHw seps's Quirgpartgmy Guobum_ige LiGemyy.1q. g6 Litiflaper efloufl&aayib.
(@) Narrate the equilibrium between ADF and ASF with diagram.
| OR

(b) Discuss‘ the role of WTO in India’s Socio-economic development.

44. (1) Gallenr omsmg aFulenen Hparmiie] QFuis.
‘ | 9{60608)
(<) Swe pri(hé QexssF swblaauier Fmmngamer afleord@s.
(a) Critically explain Say’s Law of Market.
OR

(b) Explain the components of Balance of Payments account.

45. (1) euanflad swHfluder LOGeam sLLmgmer elleufl&sab.

AL
(<) GO T9sis - _
(i) Qumgs sLen (i) gLl LHDTEGMD
(@) Describe the phases of Trade Cycle.
OR
(b) Write a note on :
(i) Public Debt (i) Primary deficit
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( )15'9,*5.555. 0 &) UOTD @I DT 6 d 8 Ul e WEAWSHaID WHMID S5
Crrésmsemar cS\arrs s,

CILVENE
ST
(c‘%’b)f & FrmSenen gf,rrmrrsnﬂa—,@m LUmasrrentigener efleuflégseyb.
(a) xplain the i Importance of Sustainable development and its goals.
OR

(b) riefly explain the objective factors of Consumption function.

(<=1) Guflans Qumrmaiwesier Lritudeeenw eleuflésab.
ATV

(<=4) @LLL&L@&;@ erElyren cungkigHaner m@g@lmwéﬁ&!m

(@) Discuss the scope of Macro Econoxmcs

OR

(b) Bring out the arguments against Planning. , =

-00o0-
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